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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  (2×19=38)

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. What do you understand by National Statistical

Organization and National Sample Survey

Organization ? How does these Organizations contribute

to the formulation and implementation of economic and

social policies in India ?

       

          

 
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2. What is meant by measure of central tendency ? Discuss

the merits and drawbacks of various types of averages ?

        



3. Define the following :

(a) Set

(b) Subsets

(c) Complementary sets



 

 

 

4. Differentiate the following function with respect to x :

(a) (x + 1) (2x3 – 21)

(b) (x4 – 5x3) (5x6 + 7x)

(c) (2x + c)/x2

x

 (x + 1) (2x3 – 21)

 (x4 – 5x3) (5x6 + 7x)

 (2x + c)/x2
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5. Explain the concept of correlation with a focus on its

direction and magnitude.



 

Section–B

–

Sh ort Answ er Type Questions

  (4×8=32)

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 

1. What do you understand by interpolation and

extrapolation ?



2. What is index number ? How is it constructed ? Why is

Fisher’s formula called ideal index ?




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3. What is primary data ? Give merits and demerits of

direct personal and investigation and indirect oral

investigation methods of collecting primary data.

 





4. Explain the concept of regression ? How is it different

from correlation.

       



5. What do you understand by birth rate ? Explain the

methods of measuring birth rate.





6. What is Graphical Presentation ? Explain the uses of

graphical or diagrammatic presentation.

         



7. What is meant by skewness ? How do you check

skewness ?

 

 
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8. If the mean of the binomial distribution is 4 and the

variance is 3, then find the values of n, p and q .

43n, p q  



**************


